—O=FxEhm—RA

HMBE X HPUITIR R

BAhr: Hou
- 0o = = #& |[Z0==F%
% W % H OB ‘ ———T— 1_?%(?[::0:
B5H AR | ZOZ= |PUTHLETE | —FEreg i
HIMES | EITH % T
— B AFTE N 392, 000 397,027 | 432,471 108.9 10.3
— AR 46, 255 48, 089 40, 895 85.0 -11.6
AREFH 1,581 919 973 105.9 -38.5
ITBUBAT 1, 309 919 679 73.9 —48. 1
— AT BUE B S 55 142 112 -21.1
ANREW 30 37 23.3
FAt N K553 100 145 45.0
BhE% 750 774 874 112.9 16.5
ITBGEAT 592 774 594 76. 7 0.3
— AT BUE B 555 146 280 91.8
B2 0 0 #DIV/0!
FoAt B 55 3 12 0 -100. 0
BOR AT () RAHRIEES 20, 580 26, 958 19, 110 70.9 -7.1
ITBUEAT 9, 282 17,923 9, 683 54.0 4.3
— AT BUE B 55 6, 296 7,775 6, 999 90.0 11.2
LI 55 AR 355 B 85 0 -100. 0
B AT 154 12 -92. 2
(EVE = 292 257 346 134. 6 18.5
FllizA7 41 0 -100. 0
%ii\%ﬂﬁﬁ/‘}m%)&*ﬁimmg 4,430 1,003 2,070 206. 4 -53. 3
RREREHEES 1,833 590 1,505 255.1 -17.9
ITBUEAT 1,135 590 616 104. 4 -45. 7
— AT BUE B S 55 425 0 327 -23.1
A A1) 55 S it 8 23 187.5
anes Ay 355 27 108 300. 0
Foft ok e 5 o8 e 455 3 238 431 81.1




- 0o = = # |=O0==fF#
¥ W W B O . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
IR 459 412 726 176. 2 58. 2
ITBGEAT 283 412 571 138.6 101.8
— AT FE R4 0 0 0 #DIV/0!
B A 20 -100.0
Hfh G5 B3 5550 156 155 -0.6
T2 5% 2, 453 2,223 2, 695 121.2 9.9
ITBUSAT 118 170 44. 1
— AT BUE B S 55 2,335 2,223 2,235 100. 5 4.3
5 R #DIV/0!
LA A B 45 3 0 290 #DIV/0!
HiHEE 439 502 519 103. 4 18.2
— AT BUE B S 55 416 502 519 103. 4 24.8
(BBt a=8% 23 0 -100. 0
LRNEES 2, 864 2,270 2, 657 117.0 -7.2
ITBUBAT 1, 668 2,270 1,655 72.9 -0.8
— AT BUE B S 55 53 50 -5.7
Fofh 20K I g 9 455 1,143 952 -16.7
HRES 2,230 835 -62. 6
ITBUBAT 703 546 —22.3
— AT BUE B S 55 106 199 87.7
TH R 51 5 1,421 90 -93.7
FUAt ps B 1595 3 0 0 #DIV/0!
RIKEE% 8 50 525.0
RO AR L 10 2 9 350.0
Foft RO 553 6 41 583.3
BREHES 0 4 #DIV/0!
FUAth R & 55 3 Y 0 4 #DIV/0!
HEREZ 100 87 173 198.9 73.0




- 0o = = # |=O0==fF#
¥ W W B ZOZTER . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
ITBUBAT 65 87 126 144. 8 93.8
— AT BUE B S 55 35 47 34.3
RERIRE THBKES 49 46 71 154.3 44.9
1TBGEAT 31 46 41 89. 1 32.3
— AT BUE B 955 18 16 -11.1
FUAth R = )R A TR B 45 3 #DIV/0!
oAt B 32 30 IR M LR IC SR 55 S 0 14 #DIV/0!
XA B E % 1,481 2,268 781 34. 4 -47. 3
1T BUEAT 710 2, 268 327 14. 4 -53.9
— AT BUE B 55 28 44 57.1
T&H% 454 123 -72.9
AR AR A4 2 55 SCH 289 287 -0.7
RBIAIT (F) RAERIEES 1,392 856 1,092 127.6 -21.6
ITBGEAT 624 856 636 74. 3 1.9
— AT BUE B 955 145 106 -26.9
N 344 9 -97.4
%iiﬁmﬁéﬁ/z}ﬁ(i)&fﬁa‘éitn*@% 579 ” 99 9
HAEE 2, 884 3,125 2,205 70. 6 -23.5
1T BUEAT 1, 433 3,125 1, 306 41.8 -8.9
— AT BUE B S 55 57 61 7.0
FoAt 23553 1,394 838 -39.9
BEEES 1,248 1, 450 1,183 81.6 -9. 2
ITBUBAT 599 1,450 689 47.5 15.0
HALE 0 23 #DIV/0!
Hopth 'S A% 2 55 3 649 471 —-27.4
GRES 217 274 271 98.9 24.9
ITBUSAT 197 274 211 77.0 7.1
— AT F 5 0 40 #DIV/0!
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
LIFSE 0 6 #DIV/0!
SRR 18 0 -100. 0
AR5 2 14 600. 0
HAtn =5t B F S () 3,433 3,226 3,428 106. 3 -0.1
ITBUBAT 442 3, 226 822 25.5 86. 0
— AT BUE B 55 2, 858 2, 458 -14.0
Hopth 37 58 2 55 5 () 133 148 11.3
TR BEEES 2,183 2,109 1,730 82.0 -20. 8
TBUEAT 1,518 2,109 1, 102 52.3 -27.4
IR 7 0 -100. 0
B g 40 22 —-45.0
FoAth i 7y B PR 55 618 606 -1.9
Hpbh—RR AR (3K 71 13 -81.7
FoAth— A LR 55 SCHE (330) 71 13 -81. 7
E=[oip it 211 3, 584 1598. 6
E B zh 5 211 3,484 1551. 2
ANRBi= 0 3, 356 #DIV/0!
ENPEY 155 123 -20.6
HoAhy [ B 30 53 3 HY 56 5 -91.1
LAt [ 7 52 HY (F) 0 100 #DIV/0!
AFTETH 13, 180 15, 106 15, 287 101. 2 16.0
BRI 30 5 69 5 7.2 0.0
LR A (350) 5 69 5 7.2 0.0
oAt he B 5 R BA S HY 0 0 #DIV/0!
NE 11, 054 14, 082 13, 698 97.3 23.9
ITBGEAT 7,628 14, 082 9, 060 64. 3 18.8
— AT B HLH 5 0 0 #DIV/0!
= S A 61 1,389 2177.0
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
PIE IS 10 0 -100. 0
Fofth 22 223 3, 355 3, 249 -3.2
DE=3 52 0 115 121.2
1TBGEAT 52 0 115 121.2
HA K523 0 0 #DIV/0!
% 4 0 267 6575. 0
ITBUBAT 4 0 267 6575. 0
Hoftik e 32 0 0 #DIV/0!
GibsS 1,015 955 1,148 120. 2 13.1
1TBGEAT 763 955 952 99.7 24.8
— AT BUE B 555 3 12 300. 0
BeE AR 31 0 -100. 0
NFFAIR S 0 18 #DIV/0!
s 46 0 -100. 0
Fofty 79252 172 166 -3.5
Hfb Atz e () 1,050 59 -94. 4
1] ¢ ]9 R S 44 21 -52. 3
Hopth A S22 452t (000) 1, 006 38 -96. 2
HEH 81, 680 61, 416 82, 640 134.6 1.2
HEEHES 3,340 19, 320 4,633 24.0 38.7
— AT BUE B 555 3,340 19, 320 4, 456 23.1 33.4
HAhH H EHF 55 0 177 #DIV/0!
LEHE 68, 545 35, 826 67, 636 188.8 -1.3
FHIHE 9, 559 3, 867 9, 790 253.2 2.4
NS 24, 251 11,777 24, 454 207.6 0.8
Wt H 21, 688 14, 132 22, 147 156. 7 2.1
T 10, 666 6, 050 11, 170 184. 6 4.7
HA B H 2, 381 75 -96. 9
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
BRWVEE 4, 559 1, 388 5, 361 386. 2 17.6
RNV EHE 4,173 3,739 -10. 4
BRHE 135 0 -100. 0
FABERNY Z0E 3 251 1,388 1, 622 116.9 546. 2
RA#E 28 0 -100. 0
DYNCE =24 28 0 -100.0
RREE 278 246 270 109. 8 -2.9
Rk AR H 278 246 270 109. 8 -2.9
BEE KB 395 206 682 331.1 72.7
FomEE 0 #DIV/0!
THHHE 242 206 295 143. 2 21.9
HAt A S5 153 387 152.9
B M I ZH RIS 4,535 4,431 4, 058 91.6 -10.5
RATh/N R 217 106 -51.2
A /N 109 0 -100. 0
ST v /N S A R 1,418 1,132 -20. 2
BT RN 300 2, 128 609. 3
FoAh A 2% Mo 22 HE S 2,491 4,431 692 15.6 -72.2
PHERR 12, 590 434 15, 403 3549. 1 22.3
BHERAREHES 161 332 92 27.7 -42.9
ITBUBAT 13 332 0 0.0 -100.0
— AT BUE B S 55 143 37 -74.1
HARRLFRARE H $ 55 5 55 1000. 0
BRI ARSI K 9, 690 14,570 50. 4
BHE SR AL S5 1L 9,413 14, 490 53.9
BRI TSI K 100 0 -100.0
HAMFARW TSI RS 177 80 -54. 8
MR M5 RS 58 0 -100. 0
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
BORAIHT 5514 & 58 0 -100.0
vy S 52 102 103 101.0 98.1
2 BHEERT SN 52 102 99 97.1 90. 4
HoAtbhAt 2R A3 0 4 #DIV/0!
PHEEARE R 66 74 12.1
R 53 46 74 60. 9
FhH T 0 0 #DIV/0!
FAbBHA R K S 20 20 0.0
HAtBERAR S H (30 2, 563 564 -78.0
BHZ 2 il 1,789 564 -68. 5
FetRR 2 BOR S H () 774 0 -100. 0
AR AT SRS 7,048 1,749 7,317 418.4 3.8
SCAL A 4,989 1,171 4,174 356. 4 -16. 3
— AT BUE B S 55 926 1,079 1,192 110.5 28.7
K TH 257 93 84 90. 3 —-67.3
AR S L N 16 10 -37.5
SREH I 1 15 1400. 0
ALTES) 36 284 688. 9
REAR AL 1 #DIV/0!
AL BIE S R e 14 116 728.6
i A 547 1, 502 174. 6
AR P 55 2, 360 310 -86. 9
A SRR U S H 832 268 —-67. 8
X 541 1,539 184.5
YRS 283 1,479 422. 6
P 24438 5 ik 8 95 36 —-62. 1
oAt SC s 163 24 -85. 3
3=} 48 0 1 -97.9
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
wEE 48 1 -97.9
AN 0 0 #DIV/0!
Hot i E 3 H 0 0 0 #DIV/0!
7 AR 4 0 -100. 0
W e 3 4 0 -100.0
JHE AL 963 578 988 170.9 2.6
— AT BUE B 955 896 578 951 164. 5 6.1
G AL ST 0 14 #DIV/0!
Fofty HE AN S 67 23 —65. 7
HAbSACIRIE T SEESTH (3) 503 0 615 22.3
EAR AR TS HY 24 #DIV/0!
AL R T TS Y 40 117 192.5
Fott SCARTiR I A4 & 5 1% B SCH (0 463 0 474 2.4
A RERATR L SZ H 52, 044 46, 228 55, 854 120. 8 7.3
ANTBEBEAE SRR ERES 2, 841 3, 501 2, 512 71.8 -11.6
ITBGEAT 563 510 428 83.9 —-24.0
— AT BUE B 555 5 110 2100. 0
55 B PRI 5 0 0 #DIV/0!
b AL S 1,170 2, 508 1, 125 44.9 -3.8
Fre RIS ML 771 483 594 123.0 -23.0
51 HENA B H 19 #DIV/0!
iﬁﬁ%)\ﬁi@?)ﬁﬁﬁ%%ﬁ%ﬁﬁ%% 339 936 —98.9
REEHEES 1,630 1,119 1,239 110.7 -24.0
— AT BUE B S 55 1,010 1,119 1,223 109. 3 21.1
A7 B K 3 42 2 16 12 —-25.0
B R BB BRI X R 0 4 #DIV/0!
Hofth B B 555 604 0 0 -100. 0
ITHENL BT SR 8, 878 7,707 13, 401 173.9 50.9
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
AT B BT IR AR 71 7 194 173.2
& AR DASEIIN 9 24 166. 7
y PSR Fb BT FEA TR Z ARG 45 9 5 5. 860 4,304 —96. 6
BUOREM F AT R A 4 4 2% S HH 574 827 44. 1
Eg%bég*nigﬂ%ﬁgﬁ%%ﬁ@%é 2,329 5, 900 7,696 130. 4 230. 4
FARAT B s A 7223 H 35 1, 800 356 917.1
AV BB 2 0 -100. 0
oty A b 252 A S A B 2 0 -100.0
wLAhBA 3,987 0 4,981 24.9
AL B R A P 730 667 -8.6
HRME S IR MI 174 #DIV/0!
Fho RIS AN I 43 289 572.1
2t P A R G 2, 340 1,249 —46. 6
0L > AN 45 216 380.0
A BEANA B IR AN 30 0 -100.0
et B AN UG 69 #DIV/0!
FoAy ol b B 3 H 799 0 2,317 190. 0
E7m 1 2, 796 3, 404 2, 960 87.0 5.9
SET- T 583 881 51.1
Pk 0 36 #DIV/0!
2 E 5 B NEFERM 1 30 317 1056. 7 31600. 0
PPl A S H 0 0 #DIV/0!
P& E UK 569 400 465 116. 3 -18.3
PRONE 3 X0 A K S SRR AN 0 216 #DIV/0!
AU 20 B A A 2 136 6700. 0
HAR YL TE S H 1,641 2,974 909 30. 6 —-44. 6
BRRE 136 232 139 59.9 2.2
BRtEEzE 134 232 132 56.9 -1.5
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
B L EREHAE 2 0 4 100. 0
HoAh 1R 22 B S 0 3 #DIV/0!
FEEAEF 1,891 292 1,436 491. 8 -24.1
JLEARA 141 241 145 60. 2 2.8
ZAEAEA 818 790 -3.4
B3k 43 123 186. 0
Fa AR A Flk s 104 51 175 343. 1 68. 3
FREMRS 328 153 -53. 4
Fotrt AR A S 457 50 -89.1
B NEk 978 485 1,070 220. 6 9.4
— AT BUE B 555 167 485 208 42.9 24.6
IR NEER 56 149 166. 1
YN RN IZ 7S A 11 4 —-63. 6
BIRNEH 3 0 -100.0
PRI 5 AN AN U 655 656 0.2
FAh AR N 3 Y 86 53 -38.4
a+FEl 1, 060 90 3, 174 3526. 7 199. 4
— AT BUE B 55 1, 060 90 809 898.9 —-23.7
HAb LAl 5 0 2, 365 #DIV/0!
BRAR A PRI 3,472 1,608 5, 230 325. 2 50. 6
I T B I O PR B 4 S 360 216 470 217.6 30. 6
AT B AR A I R B < 5 3,112 1,392 4, 760 342.0 53.0
s B R B 2, 058 0 122 -94. 1
e B SR = 4 2, 058 0 122 -94. 1
NGRS 137 197 1,017 516. 2 642. 3
TR RN RO 7R S 0 197 #DIV/0!
ARARF RN SR IR 3 137 197 820 416. 2 498. 5
oAt A 5 R Bh 75 94 72 76.6 -4.0
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¥ W W B ZOZTER . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
AR T A i B 75 94 72 76. 6 -4.0
T Box B A 57 22 PR K 2 S 7R B 18, 684 25, 492 18, 684 73.3 0.0
E,‘J%Eﬁﬁﬁﬂﬂﬂigﬁ%ﬁ%@%{f 7,010 13, 429 5,119 38.1 -27.0
E,\mgﬂﬁﬁgﬁaﬁﬁ%%%@%é 10, 043 11,199 10, 400 92.9 3.6
" Vof UK FoAts e AR 5 2 O 6 2 < ) b 1,631 864 895 103. 6 _45.1
B Ho Attt PR 2 S BRI BY 0 0 0 #DIV/0!
W BBOR A R 0 5 4 1 B 0 0 0 #DIV/0!
LA A O A 2 P 56 5 <6 1) By 0 0 0 #DIV/0!
BRENTHEES 513 414 558 134.8 8.8
1TBGEAT 201 414 302 72.9 50. 2
— AT BUE B 555 96 1 -99.0
MEN = 99 0 -100. 0
HAIEAT 74 255 244. 6
FAR R T N5 B 43 0 -100.0
TABUAR G 2 ORI B S 257 #DIV/0!
iﬁ)ﬂﬂ&ﬁﬁ%ﬁﬁké%%ﬁﬂiﬁ%%@% 191 H#DIV/0!
W U RS A A 2 (R 9 S 1 136 #DIV/0!
HAtrt > RERTREL ST H (30 2, 906 1,593 1,272 79.8 -56. 2
FoAtopt o ORBE AL 2 (350 2, 906 1,593 1,272 79.8 —56. 2
PARRSH 53, 535 46, 303 32,523 70.2 -39. 2
PHBREHEES 760 1,063 1,712 161. 1 125. 3
— AT BUE B S 55 760 1,063 1,712 161. 1 125. 3
Aty T A= f RS PR 55 S 0 0 #DIV/0!
ASLERE 11,431 30, 214 9,072 30.0 -20. 6
ek 9, 490 30,214 8,719 28.9 8.1
s (R BBt 0 119 #DIV/0!
Rt = B 198 234 18. 2
AR B 0 0 #DIV/0!
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
oAy o3 37 B S 1,743 0 -100. 0
ERET LAENH 7,985 6, 878 4,633 67. 4 —-42.0
PR 5, 806 6, 878 4,533 65.9 -21.9
FoAth I 2 BT ARG S H 2,179 0 100 -95. 4
AETPA 18, 755 1, 865 10, 536 564.9 -43. 8
PRI TR PRI LA 4, 189 992 1,314 132.5 —68. 6
PR E ALY 306 281 290 103. 2 —5.2
AR RAEH AL 83 178 100 56. 2 20. 5
BEAR AL DA RS 6,816 301 2,934 974.8 —-57.0
HARNILBARS 7,347 28 3,067 10953. 6 -58. 3
TR A FE T FA B2 A 0 5 #DIV/0!
HoA AL DA 14 82 2,826 3446. 3 20085. 7
HEEZ 27 65 140. 7
s (RIKER) 255 10 27 65 140.7
HREFTES 1,087 1, 666 537 -50. 6
THRIAE B AL 8 0 9 12.5
HRIZEE RS 86 151 75. 6
FAth v R A & 55 S 993 1, 666 377 22.6 -62.0
TR AT T 2, 177 1, 364 -37.3
ITBURNL ST 1, 758 1,233 -29.9
b AT RST 417 89 -78.7
A5 AT AN 13 #DIV/0!
FoAh AT B A RT3 H 2 29 1350. 0
T Brnt Fe A Ry PR & K40 BY 818 2, 946 2, 449 83.1 199. 4
" Vop UK MR AR I O 6 2 < ) b 0 0 1, 588 #DIV/0!
E/\Jﬁgﬂﬁbﬁ?%%%ﬁﬁ@ﬁ%ﬁﬁ%ﬁ 749 1, 244 775 62.3 4. 4
" ot UK At e AR I 9 O 6 2 < ) b 76 1,702 86 5 1 13.9
e 1,582 802 2, 097 261.5 32.6
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
¥ 2 B2y $Bh 1,554 802 2,093 261.0 34.7
HoAth B2y R 28 4 —-85. 7
PTEx R EST 31 0 42 35.5
PRt GBI+ 31 0 42 35.5
BT R E B % 12 0 -100. 0
1TBGEAT 12 0 -100. 0
5 B i 0 0 #DIV/0!
Zik DAERERES 0 783 870 16 -98.0
LS LA e 55 () 783 870 16 1.8 -98.0
HAb PARRI H () 8, 087 0 -100. 0
A T A= 4 e S s (3 8, 087 0 -100. 0
FREFRRSZ M 15, 872 284 16, 245 5720. 1 2.4
H B SRS 421 284 450 158.5 6.9
— AT BUE B S 55 421 284 450 158. 5 6.9
FAB AT O A8 P o 5% S 0 0 #DIV/0!
28 ARIIESEAE 203 399 96. 6
AT H I A S R 0 0 #DIV/0!
FARFREE I 0 5 1 55 203 399 96. 6
EE VIR 5,003 5,871 17.3
PNt 828 928 12.1
NN 3, 666 3,779 3.1
JEUSS DR AT B 5 0 e A 1, 087 #DIV/0!
+ 43 509 77 -84.9
Hofth i BB ia 32 0 0 #DIV/0!
BRESRY 284 1,097 286. 3
RS 0 331 #DIV/0!
BB LR 263 757 187.8
Hoptr B SRS TRY S 21 9 -57.1
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
RIBRARS 588 472 -19.7
AR 357 472 32.2
RIRMARI TR 0 0 #DIV/0!
(G E i 0 0 #DIV/0!
FoAt RARMR RS S 231 0 -100. 0
BBHEMIEE 92 21 -77.2
FoAt IR B AR IE S 92 21 -77.2
REIRTTAIF A (30 4,241 5, 721 34.9
REE 19 294 H (350) 4,241 5,721 34.9
1T Rk 166 2,091 1159. 6
ABHERNS5E R 166 4 -97.6
I IE 5 0 0 #DIV/0!
A5 G HE S 0 2, 087 #DIV/0!
REIREHEF 580 31 -94.7
(E)=404 - 3, 31 #DIV/0!
FiAth BE VR B 55 SCH 580 0 -100.0
HoAth 55 REFFARST HY (30 4,294 0 92 -97.9
FAR AT e IR S () 4,294 92 -97.9
WL AR 60, 550 11, 044 73, 000 661.0 20.6
WL HREEES 10,019 8, 966 18, 680 208. 3 86. 4
ITBUBAT 118 0 199 68. 6
— AT BUE B S 55 2, 525 8, 773 3,491 39.8 38.3
WA HRIE 1,043 1,059 1.5
TR 0 193 57 29.5 #DIV/0!
FoAt I 2 41 X B HE 553 H 6, 333 0 13,874 119.1
W2 AR RIS E () 1,918 10, 341 439. 2
2 AL X R 5 5 (050 1,918 10, 341 439. 2
W2 AR AFLRHE 32, 437 2, 066 15, 877 768.5 -51.1




- 0o = = # |=O0==fF#
¥ W W B O . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
/NS BTt 50 it 2 1K 7,900 12, 388 56. 8
FAb IR 2 4 X FL it S 24, 537 2, 066 3,489 168.9 -85.8
VLM RIFTZ A ) 4,583 12 1,575 13125.0 —65. 6
2 A X IR LA () 4, 583 12 1,575 13125.0 —-65. 6
HARIR 2+ X2 H (30 11,593 26, 514 128.7
FUAt IR 2 41 X 3 () 11,593 26,514 128. 7
RS 36, 092 19, 836 42, 256 213.0 17.1
R RA 5,010 4,817 14, 969 310. 8 198. 8
ATBUEAT 0 0 0 #DIV/0!
— AT BUE B 55 1,346 4, 817 2, 141 44. 4 59.1
BHEFAL SHET RS 330 151 -54. 2
Jpi L 175 0 330 88.6
AR il R A 113 83 —-26.5
Pk 18 0 -100. 0
ik i 515 BRSS 0 5 #DIV/0!
B KRR 236 60 -74.6
T AR BN ARG 0 112 #DIV/0!
BNV R 761 5,471 618.9
KA BT 5 117 2240.0
AR 7= it N T {2 4 98 153 56. 1
RATAE L F 20 2, 796 13880.0
BN FIEREE 5FH 41 33 -19.5
R % 3 2,476 82433. 3
52 it TR A S 0T L PR R 30 94 213.3
AR K 1,015 619 -39.0
FAt A AT 3 H 819 326 -60. 2
PRV AR 6, 545 4,003 8, 243 205.9 25.9
— AT BUE B S 55 1,681 4,003 1, 362 34.0 -19.0
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
BRI 1,034 4,963 380.0
PR H5¥etk 77 129 67.5
AR B 5 1,151 189 -83. 6
ARMRA SR A 817 0 1,056 29.3
H AR R X 445 PR 0 #DIV/0!
SINEEYLPS A 0 15 #DIV/0!
TSNS A 480 160 —66. 7
B 0 1 #DIV/0!
R iR By 5 i K 603 220 —-63.5
AR AR S HY 702 148 -78.9
ZKF 3,787 3,071 4, 597 149.7 21. 4
— AT BUE B S 55 552 3,071 695 22.6 25.9
IKF TREHE 952 7 -99.3
IKH TAEEAT 544 335 544 62. 4
KA A 0 0 #DIV/0!
KPR 424 0 427 0.7
IK GRS fR e 38 94 147. 4
FK 5 e 0 5 #DIV/0!
S @I 17 0 -100.0
B 312 0 2, 357 655. 4
i 14 0 -100.0
KA IKF] 104 33 —-68. 3
KA BRLIK PERS IR 5 IR RF 2 TS HY 310 0 66 —78.7
KM 22 4 s 0 8 #DIV/0!
KR AR A A% RS 20 #DIV/0!
BTN EYOK 247 107 -56. 7
FoAt KA 2 H 482 193 -60. 0
TLIE B 22 B R A B 2 R 16,073 7,334 9, 986 136. 2 -37.9
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HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
— AT BUE B 955 309 7,334 327 4.5 5.8
AR A B i 1 9,778 1, 496 -84.7
7R 279 280 0.4
R 0 0 #DIV/0!
U AN AN 12 257 2041.7
%i;i{mm}iﬁﬁlﬂ%ﬁi‘c%?ﬁ%?*ﬁ)ﬁ 5. 692 7 626 34. 0
BT GEE 1, 406 0 1,514 7.7
XAt b IR R 48 0 0 -100.0
XA IR R 2 A 58 SRR b By 1,127 1,138 1.0
X BRAR L L 2R (R B 0 35 #DIV/0!
KM LR SRR IEB R A 0 0 #DIV/0!
FAB AN £ B S 231 0 341 47.6
TRSMER 1,172 612 2, 579 421. 4 120.1
SCRPARKS R 3 0 -100.0
AL ORI TR B A U 424 1,469 246.5
[BIRIZER7SA &N DS 685 612 1,010 165.0 47. 4
FhFE BV AR LR ORI 42 60 0 100 66. 7
FoAth 3 B Rl A e S 0 0 0 #DIV/0!
B AR A Hh UG 312 #DIV/0!
oAt E AR AR AN 312 #DIV/0!
HABRAAKS H (FK) 2,099 58 -97.2
FoAth AR MR IR SZ HY (T0) 2,099 58 -97. 2
ATiEIEH S H 3, 365 760 5, 268 693. 2 56. 6
NV 2, 445 760 4, 877 641. 7 99.5
— AT BUE B 955 888 760 1, 042 137. 1 17. 3
N 1,372 2,893 110.9
NEEFRY 159 707 344.7
A BEFIIE 4 7 225 3114.3




- 0o = = # |=O0==fF#
¥ W W B O . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
N IS 0 9 #DIV/0!
TR IE B S 920 94 -89. 8
T B AR O B B 920 94 -89. 8
HAb BB H () 297 #DIV/0!
NFEASBIEE RN 297 #DIV/0!
BREHR T A5 B& ST 3, 056 849 3,681 433. 6 20.5
HIRBIITR 501 849 653 76.9 30.3
— AT BUE B S 55 493 849 607 71.5 23.1
FoAt GE YR B R MY S H 8 46 475.0
Tor s Bl e 447 388 -13.2
— AT BUE B 555 52 115 121. 2
RE 4 J 295 234 -20.7
oAy TP B b I S H 100 39 -61.0
SCRpR/MRNL R AR B ST 1,988 0 2,631 32.3
— AT FE R4 0 0 0 #DIV/0!
BHE A NP R B 45 106 0 -100.0
/ARl R JE L T 1,299 2,631 102.5
I3 s FELAR 45 0 -100. 0
Hofth SCHRE /Nl R RN S B S H 538 0 -100. 0
oAb BRI Tk A4S B &S H () 120 4 -96. 7
FAh FEI DR Tl A5 25552 H (T0) 120 4 -96. 7
TR MV R 5l S5 3 H 1,072 98 2,033 2074.5 89. 6
B EE S 122 98 1,096 1118.4 798.4
— AT BUE B S 55 122 98 127 129.6 4.1
BB A AN 11 #DIV/0!
At S b I 3 5% 5 0 958 #DIV/0!
WHNR MRS 854 530 -37.9
FARE AN R MR 55 SCH 854 530 -37.9
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¥ W W B O . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
FHoAtn F b R 25 ML 4552 HY () 96 407 324.0
LA PR R 45 b B S (50) 96 407 324.0
SRS 316 328 509 155. 2 61.1
SREES I ATBO 189 328 509 155. 2 169. 3
— AT BUE B 955 166 328 346 105. 5 108. 4
ERRR T HARAT B 23 163 608. 7
HAth &R H (30 127 0 -100. 0
H AR PRI B 0 0 #DIV/0!
Fofts RS (50 127 0 -100. 0
HRRFEEESREH 3,726 2, 520 4, 364 173.2 17.1
HARRES 3,529 2,411 4,098 170.0 16. 1
— AT BUE B S 55 1,953 2,411 2, 564 106. 3 31.3
[ AR BRI R 494 376 -23.9
H AR BRI 5 OR 11 130 1081. 8
H AR BRI & SRS 154 693 350.0
Hu S 7 YR S A 0 63 #DIV/0!
HuJst A R B R B 12 20 66. 7
BEnh 2 5 A B 0 0 #DIV/0!
Hofty B AR BEUR S 55 5 905 252 -72.2
[EEF 197 109 266 244.0 35.0
— AT B HLH 4 0 0 #DIV/0!
LEIRS 9 46 411.1
FAb AR 188 109 220 201.8 17.0
A 55 AR IR S H 8, 396 2, 007 8, 705 433.7 3.7
PRt 2 R TS 8, 160 2,007 5, 288 263. 5 -35. 2
BRAHLAE 5 251 71 -71.7
B X s 4,011 1, 760 1, 000 -75.1
AN S s g 50 0 20 -60. 0




- 0o = = # |=O0==fF#
¥ W W B O . ———T— 1_?%5(}:[::0:
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
AFEHGAE 5 414 40 109 272.5 —-73.7
PRBEAEAT s A1 S AP 40 14 -65.0
ZIHNX i 1,851 207 1,125 543. 5 -39. 2
FoAth OB 2 JE TR S 1,543 2, 949 91.1
AP ST 160 3,417 2035. 6
GRS 160 3, 156 1872.5
RN 261 #DIV/0!
WL AR EE 76 0 -100. 0
ANEAE P A 4EAE s S H 8 0 -100.0
HoAthI 2 41 XAF B3 68 0 -100.0
R WD B Ak 2 ST Y 759 542 1,634 301.5 115.3
RIMES 224 542 1, 047 193. 2 367. 4
— AT BUE B 555 164 542 0 0.0 -100.0
FUAtAR I 55 3 60 1,047 1645. 0
R TH A 2 535 587 9.7
il 2 R T A I 46 430 834. 8
FCAd AR I 2 S 489 157 -67.9
RELT RSB H 4,675 2,811 9, 357 332.9 100. 1
MREHES 1,467 1,184 2, 862 241.7 95. 1
1TBUEAT 725 1,184 955 80. 7 31.7
— AT BUE B S 55 13 163 1153. 8
KE R 207 111 —46. 4
¥ 2 20 136 580. 0
LA 66 42 —36. 4
¥ 2R 306 1, 440 370. 6
FoAt B S BE S Y 130 15 —-88.5
WHEIES 2, 387 1,627 4,315 265. 2 80. 8
ITBGEAT 1,617 1, 627 3, 445 211.7 113.0
Vel IS S e 428 824 92.5




- 0o = = # |=O0==fF#
%X # W H O M e | —o—= Tor oo
HH AR | ZOZ= (PITH GBS | 4R B
MIBES | EPITH % L)
HAb T 7 553 342 46 —86. 5
WRES 5 0 0 -100. 0
—ATEUE B 5% 5 0 -100.0
HoAthath 72 2 55 3 0 0 #DIV/0!
BRREE 299 98 -67. 2
i R PG 262 93 —-64. 5
HoAh 1 98 5¢ B3 76 3 H 37 5 —86. 5
HRRERRRIKRE-EH 178 2, 082 1069. 7
Hh e AR AL R B 0 1,443 #DIV/0!
ERYERS OS] 178 572 221.3
FoAth B SRR AR SRR B S 0 67 #DIV/0!
HAt Rk ERTE K2 E B 30 339 143 -57.8
Fofty e F Hiih K B EE B S HE (B0 339 143 -57.8
HAt T G 3, 569 12, 748 143 1.1 -96. 0
HoAt 2 H (30 3, 569 12, 748 143 1.1 -96. 0
Hofth 37 H (3757) 3, 569 12,748 143 1.1 —96.0
BEA B H 11, 654 10, 874 11, 749 108. 0 0.8
I BOR — R 544 B3 11, 654 10, 874 11,749 108. 0 0.8
Hu T BUR — R4 B S 11, 654 10, 874 11, 749 108.0 0.8
%% RAT#R A 30 24 -20.0
T BN — 85t %5 R AT R A SO 30 24 -20.0
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